

10.24425/acs.2025.156305

Archives of Control Sciences

Volume 35(LXXI), 2025

No. 3, pages 429–440

Finite-time observer design of a class of nonlinear systems

Abdessalem BOUZIDI and Thouraya KHARRAT

We consider the problem of global finite-time stability for a class of nonlinear systems. The novelty in this paper is to consider a nonlinear finite time observer design, which introduces a finite-time observer for nonlinear systems that can be put into a nonlinear canonical form up to an output injection. The proof is based on the Lyapunov theory for Finite-Time Stability and the observer design method.

Key words: global stabilization, finite-time observer, Lyapunov theory

1. Introduction

The problem of finite-time stabilization has been studied by many researchers, see for instance [2, 13] in which it was proved that finite-time stable systems might enjoy not only faster convergence but also better robustness and disturbance rejection properties.

Recently, in the work [14], the synchronization has been regarded as a special case of observer design problem, i.e. the state reconstruction from measurements of an output variable under the assumption that the system structure and parameters are known.

In this paper, we consider a family of nonlinear systems of the form:

$$\left\{ \begin{array}{l} \dot{x}_1 = x_2^{r_1} + f_1(x, u, t), \\ \dot{x}_2 = x_3^{r_2} + f_2(x, u, t), \\ \vdots \\ \dot{x}_{n-1} = x_n^{r_{n-1}} + f_{n-1}(x, u, t), \\ \dot{x}_n = u + f_n(x, u, t), \\ y = x_1, \end{array} \right. \quad (1)$$

Copyright © 2025. The Author(s). This is an open-access article distributed under the terms of the Creative Commons Attribution-NonCommercial-NoDerivatives License (CC BY-NC-ND 4.0 <https://creativecommons.org/licenses/by-nc-nd/4.0/>), which permits use, distribution, and reproduction in any medium, provided that the article is properly cited, the use is non-commercial, and no modifications or adaptations are made

A. Bouzidi (corresponding author, e-mail: abdessalembouzidi1@gmail.com) and T. Kharrat (e-mail: thouraya.kharrat@fss.rnu.tn) are with University of Sfax, Faculty of Sciences of Sfax-Tunisia, Soukra Road, km 3.5, 3000 Sfax – Tunisia.

Received 27.12.2024. Revised 18.08.2025.

where $x = (x_1, x_2, \dots, x_n)^T \in \mathbb{R}^n$, $u \in \mathbb{R}$ and $y \in \mathbb{R}$ are the system state and the system input and output respectively; $f_i : \mathbb{R}^n \times \mathbb{R} \times \mathbb{R}_+ \rightarrow \mathbb{R}$ is a continuously differentiable function, $(i = 1, 2, \dots, n)$ with $f_i(0, 0, t) = 0$, $\forall t$. In the present work, we suppose that $0 < r_i < 1$, for any $i \in \{1, 2, \dots, n\}$ and $r_i = \frac{m_i}{n_i}$ with m_i, n_i are odd integers.

The purpose of this paper is to introduce a new type of finite time observer. We consider the nonlinear system (1) and under additionally assumptions, we construct an observer that makes the error between the considered system and the observer convergent to zero in finite time. In the works [1, 7, 14], the authors consider a family on nonlinear systems in the form (1) and choose $r_1 = r_2 = \dots = r_n = p > 1$ with p is odd integer and in the work ([15]), the author chooses $(r_1 = p_1, r_2 = p_2, \dots, r_n = p_n)$ with $p_i \geq 0$, $(i = 1, \dots, n)$ is odd integer and construct an observer for the nonlinear system. In [10], Ji Li and C. Qian choose $(r_1 = r_2 = \dots = r_n = r)$ with $0 < r < 1$ and $r = \frac{p}{q}$, $(p < q)$ with p, q are odd integers and design a finite time observer of the considered system. In the present work, we consider the nonlinear system (1) and we choose $(r_1 \neq r_2 \neq \dots \neq r_n)$ with $0 < r_i < 1$ for $(i = 1, \dots, n)$ and $r_i = \frac{m_i}{n_i}$ with m_i, n_i are odd integers to construct a finite time observer.

The paper is organized as follows. First, we recall some definitions and preliminary results of finite-time stability, stabilization and observer. Then, we proceed for the design of finite time observer for the considered system. The idea of the proof is to use Lyapunov theory for finite-time stability, and a recursive design method that yields a state finite-time observer. Then, a numerical example is given to illustrate the use of the main result.

Finally, the conclusion follows.

2. Notion of stability and Key technical lemmas

We consider the non-autonomous system,

$$\dot{x}(t) = f(t, x), \quad t \geq 0, \quad x \in \mathbb{R}^n, \quad (2)$$

where $f : \mathbb{R}_+ \times \mathbb{R}^n \rightarrow \mathbb{R}^n$ is continuous. We denote by $x(t, t_0, x_0)$ the solution of the system (2) starting from $(t_0, x_0) \in \mathbb{R}_+ \times \mathbb{R}^n$.

Definition 1. [13] (Finite time stability)

The origin of the system (2) is finite-time stable if:

- a) *it is stable (2);*
- b) *for all $t_0 \geq 0$, there exists $\eta(t_0) > 0$, such that if $\|x_0\| < \eta(t_0)$, then*

- i) $x(t, t_0, x_0)$ is defined for $t \geq t_0$,
- ii) there exists $0 \leq T(t_0, x_0) < +\infty$ such that $x(t, t_0, x_0) = 0$ for all $t \geq t_0 + T(t_0, x_0)$.

Denote

$$T_0(x_0) = \inf\{T(t_0, x_0) \geq 0 : x(t, t_0, x_0) = 0, \forall t \geq t_0 + T(t_0, x_0)\},$$

$T_0(x_0)$ is called the settling time of the solution $x(t, t_0, x_0)$.

Definition 2. [13] (Stabilization in finite time)

The system (2) is finite-time stabilizable if there exists a feedback function $u \in C^0(\mathbb{R}^n)$ such that:

- a) $u(0) = 0$,
- b) the origin of the closed loop system $\dot{x} = f(t, x, u(x))$ is finite-time stable.

Definition 3. [13] (Uniform finite time stability)

The origin of the system (2) is uniformly finite-time stable if:

- a) it is uniformly asymptotically stable,
- b) it is finite-time stable,
- c) there exists a positive definite continuous function $\alpha: \mathbb{R}_+ \rightarrow \mathbb{R}_+$ such that the settling time of the system (2): $T_0(t, x) \leq \alpha(\|x\|)$, $\forall x \in \mathbb{R}^n$.

Definition 4. [9] (Finite time observer)

We consider the system

$$\begin{cases} \dot{x} = f(x, u, t), \\ y = x_1, \end{cases} \quad (3)$$

where $x = (x_1, x_2, \dots, x_n)^T \in \mathbb{R}^n, u \in \mathbb{R}$ and $y \in \mathbb{R}$ are the system state and the system input and output respectively.

We call an observer of the system (3) any auxiliary system in the following form:

$$\begin{cases} \dot{\xi}(t) = \hat{f}(\xi(t), y(t)), \\ \hat{x}(t) = \xi(t) \end{cases} \quad (4)$$

such that

$$\lim_{t \rightarrow +\infty} \|e(t)\| = \|x(t) - \hat{x}(t)\| = 0,$$

$e(t)$ is called the error of observation.

The system (4) is a finite time observer for the system (3) if there exists a time constant τ such that for all $t \geq t_0 + \tau$,

$$\hat{x}(t) = x(t)$$

In the next, we recall the Lyapunov theory for finite time stability.

Theorem 1 (Lyapunov Theory for Finite-Time Stability).

Consider the nonlinear dynamical system (2). Then the following statements hold:

- i) If there exist a continuously differentiable function $V: [0, \infty) \times \mathcal{D} \rightarrow \mathbb{R}$, a class \mathcal{K} function $\alpha(\cdot)$, a function $k: [0, \infty) \rightarrow \mathbb{R}_+$ such that $k(t) > 0$ for almost all $t \in [0, \infty)$, a real number $\lambda \in (0, 1)$, and an open neighborhood $\mathcal{M} \subseteq \mathcal{D}$ of the origin such that:

$$\begin{aligned} V(t, 0) &= 0, & t &\in [0, \infty), \\ \alpha(\|x\|) &\leq V(t, x), & t &\in [0, \infty), \quad x \in \mathcal{M}, \\ \dot{V}(t, x) &\leq -k(t)(V(t, x))^\lambda, & t &\in [0, \infty), \quad x \in \mathcal{M}, \end{aligned}$$

then the zero solution $x(t) \equiv 0$ to (1) is finite-time stable.

- ii) If $\mathcal{N} = \mathcal{D} = \mathbb{R}^n$ and there exist a continuously differentiable function $V: [0, \infty) \times \mathcal{D} \rightarrow \mathbb{R}$, a class \mathcal{K}_∞ function $\alpha(\cdot)$, a function $k: [0, \infty) \rightarrow \mathbb{R}$ such that $k(t) > 0$ for almost all $t \in [0, \infty)$, and an open neighborhood $\mathcal{M} \subseteq \mathcal{D}$ of the origin such that (20)–(22) hold, then the zero solution $x(t) \equiv 0$ of the system (1) is globally finite-time stable.

Lemma 1. [7, 11] For $x, y \in \mathbb{R}$, and $0 < b \leq 1$, we have the inequality

$$(|x| + |y|)^b \leq |x|^b + |y|^b, \quad (5)$$

Therefore, for all real $x_i, i = 1, 2, \dots, n$

$$(|x_1| + |x_2| + \dots + |x_n|)^b \leq |x_1|^b + |x_2|^b + \dots + |x_n|^b, \quad (6)$$

where $b = \frac{p}{q} \leq 1$, with $p, q > 0$ are odd integers,

$$|x^b + y^b| \leq 2^{1-b} |x + y|^b. \quad (7)$$

Lemma 2. [7, 11] Let n, m be positive real numbers and a, b, d continuous and positive real functions, then $\forall c > 0$ we have:

$$|a|^n |b|^m d \leq c |a|^{n+m} + \frac{m}{n+m} \left[\frac{n}{c(n+m)} \right]^{\frac{n}{m}} |b|^{n+m} d^{\frac{n+m}{m}}. \quad (8)$$

3. Design of a finite-time observer

Before the design of finite time observer, we introduce the following assumption.

Assumption 1. For $i = 1, 2, \dots, n$, there exist positive constants \bar{a}_i such that $\forall (x, u, t) \in \mathbb{R}^n \times \mathbb{R} \times \mathbb{R}_+$ and $y \in \mathbb{R}^n$, we have:

$$|f_i(x, u, t) - f_i(y, u, t)| \leq \bar{a}_i (|x_1 - y_1|^{r_i} + |x_2 - y_2|^{r_i} + \dots + |x_i - y_i|^{r_i}).$$

Assume that the system (1) is observable, then an observer for this system is designed as:

$$\begin{cases} \dot{\hat{x}}_1 = \hat{x}_2^{r_1} + f_1(\hat{x}_1) + L_1 \chi_1(x_1 - \hat{x}_1), \\ \dot{\hat{x}}_2 = \hat{x}_3^{r_2} + f_2(\hat{x}_1, \hat{x}_2) + L_2 \chi_2(x_2 - \hat{x}_2), \\ \vdots \\ \dot{\hat{x}}_n = u + f_n(\hat{x}_1, \dots, \hat{x}_n) + L_n \chi_n(x_n - \hat{x}_n), \end{cases} \quad (9)$$

where, for $i = 1, \dots, n$, $L_i > 0$, and $\chi_i(\cdot)$ is a continuous function which will be chosen later.

For $(i = 1, \dots, n)$, denote $e_i = x_i - \hat{x}_i$, then the observation error dynamics are given by

$$\begin{cases} \dot{e}_1 = x_2^{r_1} - \hat{x}_2^{r_1} + f_1(x_1) - f_1(\hat{x}_1) - L_1 \chi_1(e_1), \\ \dot{e}_2 = x_3^{r_2} - \hat{x}_3^{r_2} + f_2(x_1, x_2) - f_2(\hat{x}_1, \hat{x}_2) - L_2 \chi_2(e_2), \\ \vdots \\ \dot{e}_n = f_n(x_1, \dots, x_n) - f_n(\hat{x}_1, \dots, \hat{x}_n) - L_n \chi_n(e_n). \end{cases} \quad (10)$$

Theorem 2. If the assumption (1) is satisfied, the system (10) is globally finite-time stable.

For the proof of the main result, we need the following steps.

First step: In the first step, we prove the following result:

Proposition 1. Let $V_1(e_1) = \frac{e_1^{3-r_1}}{3-r_1}$, and $\chi(e_1) = e_1^{r_1} + \Phi_1(e_1)$, where ϕ_1 is a continuous function which will be chosen later. Then V_1 is non negative and the derivative of V_1 along the trajectories of the system (1) satisfies:

$$\dot{V}_1 \leq -(L_1 - (\bar{a}_1 + 1)) e_1^2 + 4^{\frac{1}{r_1}} e_2^2 - L_1 e_1^{2-r_1} \Phi_1(e_1). \quad (11)$$

Proof. Let $V_1(e_1) = \frac{e_1^{3-r_1}}{3-r_1}$.

We have $r_1 = \frac{m_1}{n_1}$. m_1, n_1 are odd integers, we obtain $3 - r_1 = \frac{3n_1 - m_1}{n_1}$, then V_1 is a positive function of class C^1 , where $V(e_1) \leq e_1^{3-r_1}$. Then the derivative of

V_1 along the trajectories of the system (10) is:

$$\begin{aligned}
 \dot{V}_1 &= e_1^{2-r_1} \dot{e}_1 \\
 &= e_1^{2-r_1} \left(x_2^{r_1} - \hat{x}_2^{r_1} \right) + e_1^{2-r_1} (f_1(x_1) - f_1(\hat{x}_1)) - L_1 e_1^{2-r_1} \chi_1(e_1) . \\
 &\leq 2^{1-r_1} |e_1|^{2-r_1} |e_2|^{r_1} + \bar{a}_1 |e_1|^{2-r_1} (|x_1 - \hat{x}_1|^{r_1}) - L_1 \chi_1(e_1) e_1^{2-r_1} \\
 &\leq (\bar{a}_1 + 1) e_1^2 + 2^{\frac{2}{r_1}} e_2^2 - L_1 e_1^{2-r_1} \chi_1(e_1) .
 \end{aligned}$$

Let $\chi_1(e_1) = e_1^{r_1} + \Phi_1(e_1)$, we obtain:

$$\dot{V}_1 \leq - (L_1 - (\bar{a}_1 + 1)) e_1^2 + 4^{\frac{1}{r_1}} e_2^2 - L_1 e_1^{2-r_1} \Phi_1(e_1) . \quad \square$$

Second step: Let $1 \leq k \leq n-1$, we assume at step $k-1$, there exists a positive definite and proper function of class C^1 , $V_{k-1}(e_1, \dots, e_{k-1})$, which satisfies:

$$\begin{aligned}
 V_{k-1}(e_1, \dots, e_{k-1}) &> 0, \quad \text{for } (e_1, \dots, e_{k-1}) \neq 0, \\
 V_{k-1}(e_1, \dots, e_{k-1}) &\leq e_1^{3-r_1} + \dots + e_{k-1}^{3-r_{k-1}}
 \end{aligned}$$

and

$$\dot{V}_{k-1} \leq - \sum_{i=1}^{k-1} (L_i - (\bar{a}_i + 1)) e_i^2 - \sum_{i=1}^{k-1} L_i e_i^{2-r_i} \Phi_i(e_i) + 4^{\frac{1}{r_{k-1}}} e_k^2$$

with

$$\begin{cases}
 \chi_1(e_1) = e_1^{r_1} + \Phi_1(e_1), \\
 \chi_2(e_2) = e_2^{r_2} + \Phi_2(e_2), \\
 \vdots \\
 \chi_{k-1}(e_{k-1}) = e_{k-1}^{r_{k-1}} + \Phi_{k-1}(e_{k-1})
 \end{cases}$$

with $\Phi_i(e_i), i = (1, \dots, k-1)$ is a continuous function which will be chosen later.

Proposition 2. We consider

$$V_k(e_1, \dots, e_k) = V_{k-1}(e_1, \dots, e_{k-1}) + \frac{e_k^{3-r_k}}{3-r_k} .$$

Then

$$\dot{V}_k(e_1, \dots, e_k) \leq - \sum_{i=1}^k (L_i - C_i) e_i^2 - \sum_{i=1}^k L_i e_i^{2-r_i} \Phi_i(e_i) + 4^{\frac{1}{r_k}} e_{k+1}^2$$

with C_i is a positive constant, for $i \in \{1, \dots, k\}$.

Proof.

Proposition 3. Let $V_k = V_{k-1} + \frac{e_k^{3-r_k}}{3-r_k}$, is a positive function of C^1 , then the derivative of V_k along the trajectories of the system (10) gives

$$\begin{aligned} \dot{V}_k &= \dot{V}_{k-1} + e_k^{2-r_k} \dot{e}_k \\ &= \dot{V}_{k-1} + \underbrace{e_k^{2-r_k} (x_{k+1}^{r_k} - \hat{x}_{k+1}^{r_k})}_{(a)} + \underbrace{e_k^{2-r_k} (f_k(x_1, \dots, x_k) - f_k(\hat{x}_1, \dots, \hat{x}_k))}_{(b)} \\ &\quad - \underbrace{L_k e_k^{2-r_k} \chi_k(e_k)}_{(c)}. \end{aligned}$$

Now we estimate the expression (a):

$$\begin{aligned} |e_k^{2-r_k} (x_{k+1}^{r_k} - \hat{x}_{k+1}^{r_k})| &\leq 2^{1-r_k} |e_k|^{2-r_k} |x_{k+1} - \hat{x}_{k+1}|^{r_k} \\ &\leq 2^{1-r_k} |e_k|^{2-r_k} |e_{k+1}|^{r_k} \\ &\leq e_k^2 + 4^{\frac{1}{r_k}} e_{k+1}^2. \end{aligned}$$

Then, according to Lemma (2) we estimate the expression (b): we have, for $x, \hat{x} \in \mathbb{R}^k$

$$\begin{aligned} e_k^{2-r_k} (f_k(x) - f_k(\hat{x})) &\leq \bar{a}_k |e_k|^{2-r_k} [(|x_1 - \hat{x}_1|^{r_k}) + \dots + (|x_k - \hat{x}_k|^{r_k})] \\ &\leq \bar{a}_k |e_k|^{2-r_k} [|e_1|^{r_k} + \dots + |e_k|^{r_k}] \\ &\leq \left(\bar{a}_k^{\frac{2}{r_k}}\right) \sum_{i=1}^{k-1} e_i^2 + 2(\bar{a}_k + 1) e_k^2. \end{aligned}$$

Now we let $\chi_k(e_k) = e_k^{r_k} + \Phi_k(e_k)$; We obtain

$$\begin{aligned} \dot{V}_k &\leq - \sum_{i=1}^{k-1} (L_i - (\bar{a}_i + 1)) e_i^2 - \sum_{i=1}^{k-1} L_i e_i^{2-r_i} \Phi_i(e_i) + 4^{\frac{1}{r_{k-1}}} e_k^2 \\ &\quad + e_k^2 + 4^{\frac{1}{r_k}} e_{k+1}^2 + \left(\bar{a}_k^{\frac{2}{r_k}}\right) \sum_{i=1}^{k-1} e_i^2 + 2(\bar{a}_k + 1) e_k^2 - L_k e_k^2 - L_k e_k^{2-r_k} \Phi_k(e_k) \\ &\leq - \sum_{i=1}^k (L_i - C_i) e_i^2 - \sum_{i=1}^k L_i e_i^{2-r_i} \Phi_i(e_i) + 4^{\frac{1}{r_k}} e_{k+1}^2. \end{aligned}$$

With $C_i = 2\bar{a}_i + 3 + 4^{\frac{1}{r_{k-1}}} + \bar{a}_k^{\frac{2}{r_k}}$, for $1 = 1, \dots, k$

Last step: Using the inductive argument above, at the n th step, we obtain the following result.

Proposition 4. Let $V_n(e_1, \dots, e_n) = V_{n-1}(e_1, \dots, e_{n-1}) + \frac{e_n^{3-r_n}}{3-r_n}$ and $\chi_n(e_n) = e_n^{r_n} + \Phi(e_n)_n$. Then

$$\dot{V}_n(e_1, \dots, e_n) \leq - \sum_{i=1}^n (L_i - C_i) e_i^2 - \sum_{i=1}^n L_i e_i^{2-r_i} \Phi_i(e_i)$$

and the closed-loop system (10) is globally finite-time stable.

Proof. Let

$$V_n = V_{n-1} + \frac{e_n^{3-r_n}}{3-r_n},$$

V_n is a positive function of C^1 . Then

$$\begin{aligned} \dot{V}_n &= \dot{V}_{n-1} + e_n^{2-r_n} \dot{e}_n \\ &= \dot{V}_{n-1} + e_n^{2-r_n} (f_n(x) - f_n(\hat{x})) - L_n e_n^{2-r_n} \chi_n(e_n) \\ &\leq \dot{V}_{n-1} + \bar{a}_n |e_n|^{2-r_n} [(|x_1 - \hat{x}_1|^{r_n}) + \dots + (|x_n - \hat{x}_n|^{r_n})] - L_n e_n^{2-r_n} \chi_n(e_n) \\ &\leq \dot{V}_{n-1} + 2^{1-r_n} \bar{a}_n |e_n|^{2-r_n} (|e_1|^{r_n} + \dots + |e_n|^{r_n}) - L_n e_n^{2-r_n} \chi_n(e_n) \\ &\leq \dot{V}_{n-1} + \bar{a}_n^{\frac{2}{r_n}} \sum_{i=1}^{n-1} e_i^2 + 2(\bar{a}_n + 1) e_n^2 - L_n e_n^{2-r_n} \chi_n(e_n). \end{aligned}$$

Let $\chi_n(e_n) = e_n^{r_n} + \Phi_n(e_n)$. We obtain

$$\dot{V}_n \leq - \sum_{i=1}^n (L_i - C_i) e_i^2 - \sum_{i=1}^n L_i e_i^{2-r_i} \Phi_i(e_i).$$

With $C_i = 2\bar{a}_i + 3 + 4^{\frac{1}{r_n-1}} + \bar{a}_n^{\frac{2}{r_n}}$, for $1 = 1, \dots, n$.

We have

$$\begin{aligned} V_n &= \sum_{i=1}^n \frac{e_i^{3-r_i}}{3-r_i} \\ &\leq \sum_{i=1}^n e_i^{3-r_i}. \end{aligned}$$

Let $\Phi_i(e_i) = e_i^{\frac{r_i}{3}}$, for $(i = 1, \dots, n)$ and $\alpha = \frac{2}{3} \in]0, 1[$. We obtain:

$$\dot{V}_n + V_n^\alpha \leq - \sum_{i=1}^n (L_i - C_i) e_i^2 - \sum_{i=1}^n L_i e_i^{2-\frac{2r_i}{3}} + \sum_{i=1}^n e_i^{2-\frac{2r_i}{3}}.$$

If we choose $L_1 > C_1; L_2 > C_2; \dots; L_n > C_n$, we obtain

$$\dot{V}_n + V_n^\alpha \leq 0.$$

Then the system (10) is a globally finite time stable.

4. Example

Consider the following nonlinear system of the for

$$\begin{cases} \dot{x}_1 = x_2^{5/7} + \frac{1}{2(1+x_1^2)}, \\ \dot{x}_2 = x_3^{3/5}, \\ \dot{x}_3 = u, \\ y = x_1 \end{cases} \quad (12)$$

with $f_1(x_1) = \frac{1}{2(1+x_1^2)}$ is a continuously differentiable function and for $x, y \in \mathbb{R}$ we have $|f_1(x) - f_1(y)| \leq 2|x - y|^{5/7}$.

The observer is given by:

$$\begin{cases} \dot{\hat{x}}_1 = \hat{x}_2^{5/7} + \frac{1}{2(1+\hat{x}_1^2)} + L_1\chi(x_1 - \hat{x}_1), \\ \dot{\hat{x}}_2 = \hat{x}_3^{3/5} + L_2\chi(x_2 - \hat{x}_2), \\ \dot{\hat{x}}_3 = u + L_3\chi(x_3 - \hat{x}_3). \end{cases}$$

Now, let $e_i = x_i - \hat{x}_i$. We obtain,

$$\begin{cases} \dot{e}_1 = x_2^{5/7} - \hat{x}_2^{5/7} + \frac{1}{2(1+x_1^2)} - \frac{1}{2(1+\hat{x}_1^2)} - L_1\chi(e_1), \\ \dot{e}_2 = x_3^{3/5} - \hat{x}_3^{3/5} - L_2\chi(e_2), \\ \dot{e}_3 = -L_3\chi(e_3) \end{cases} \quad (13)$$

with

$$\begin{cases} \chi(e_1) = e_1^{5/7} + \Phi_1(e_1), \\ \chi(e_2) = e_2^{3/5} + \Phi_2(e_2), \\ \chi(e_3) = e_3^{7/11} + \Phi_3(e_3). \end{cases}$$

In the first step

let $V_1(e_1) = \frac{7}{16}e_1^{16/7}$ and we estimate \dot{V}_1

$$\begin{aligned}\dot{V}_1(e_1) &\leq |e_1|^{9/7} \left| x_2^{5/7} - \hat{x}_2^{5/7} \right| + |e_1|^{9/7} \left| \frac{1}{2(1+x_1^2)} - \frac{1}{2(1+\hat{x}_1^2)} \right| \\ &\quad - L_1 e_1^{9/7} \left(e_1^{5/7} + \Phi_1(e_1) \right) \\ &\leq -(L_1 - 3)e_1^2 + \frac{1}{4}e_2^2 - L_1 e_1^{9/7} \Phi_1(e_1).\end{aligned}$$

In the second step,

We let,

$$V_2(e_1, e_2) = V_1(e_1) + \frac{5}{12}e_2^{12/5}$$

then

$$\dot{V}_2(e_1, e_2) \leq -(L_1 - 3)e_1^2 - \left(L_2 - \frac{5}{4}\right)e_2^2 - L_1 e_1^{9/7} \Phi_1(e_1) - L_2 e_2^{7/5} \Phi_2(e_2) + e_3^2$$

and

$$V_2(e_1, e_2) \leq e_1^{16/7} + e_2^{12/5}.$$

In the last step,

Let, $V_3(e_1, e_2, e_3) = V_2(e_1, e_2) + \frac{11}{26}e_3^{26/11}$. Then:

$$\begin{aligned}\dot{V}_3 &\leq \dot{V}_2(e_1, e_2) - L_3 e_3^{15/11} (e_3^{7/11} + \Phi_3(e_3)) \\ &\leq -(L_1 - 3)e_1^2 - \left(L_2 - \frac{5}{4}\right)e_2^2 - (L_3 - 1)e_3^2 - L_1 e_1^{9/7} \Phi_1(e_1) \\ &\quad - L_2 e_2^{7/5} \Phi_2(e_2) - L_3 e_3^{15/11} \Phi_3(e_3)\end{aligned}$$

and

$$V_3(e_1, e_2, e_3) \leq e_1^{16/7} + e_2^{12/5} + e_3^{26/11}.$$

Now, we let

$$\begin{cases} \Phi_1(e_1) = e_1^{5/21}, \\ \Phi_2(e_2) = e_2^{1/5}, \\ \Phi_3(e_3) = e_3^{7/33}. \end{cases}$$

If we choose $\alpha = 2/3$ and $L_1 = 4$, $L_2 = 3$, $L_3 = 2$, we obtain,

$$\dot{V}_3(e_1, e_2, e_3) + V_3^{2/3}(e_1, e_2, e_3) < 0.$$

Then, the system (13) is globally finite-time stable.

5. Conclusion

In this paper, we give a simpler design finite-time observer method to achieve globally finite-time stabilization of a family of nonlinear system (1), under the assumption (1). Finally, a numerical example has also been given to demonstrate the use of our main result.

References

- [1] Z. ARTSTEIN: Stabilization with relaxed controls. *Nonlinear Analysis: Theory, Methods and Applications*, **7**(11), (1983), 1163–1173. DOI: [10.1016/0362-546X\(83\)90049-4](https://doi.org/10.1016/0362-546X(83)90049-4)
- [2] S.P. BHAT and D.S. BERNSTEIN: Finite-time stability of homogeneous systems. *Proceedings of the American Control Conference*, **4** (1997), 2513–2514. DOI: [10.1016/j.automatica.2024.111872](https://doi.org/10.1016/j.automatica.2024.111872)
- [3] P. BERNARD: *Observer design for nonlinear systems*. Springer International Publishing, **479** (2019). DOI: [10.1007/978-3-030-11146-5](https://doi.org/10.1007/978-3-030-11146-5)
- [4] P. BERNARD, V. ANDRIEU and D. ASTOLFI: Observer design for continuous-time dynamical systems. *Annual Reviews in Control*, **53** (2022), 224–248. DOI: [10.1016/j.arcontrol.2021.11.002](https://doi.org/10.1016/j.arcontrol.2021.11.002)
- [5] A. BOUZIDI and T. KHARRAT: Finite-time stabilization by a continuous feedback of a class of nonlinear systems. *Rocky Mountain Journal of Mathematics*, **54**(1), (2022), 43–53. DOI: [10.1216/rmj.2024.54.43](https://doi.org/10.1216/rmj.2024.54.43)
- [6] D. EFIMOV and A. POLYAKOV: *Finite-Time Stability Tools for Control and Estimation*. Foundations and Trends in Systems and Control, 2021. DOI: [10.1561/9781680839272](https://doi.org/10.1561/9781680839272)
- [7] X. HUANG, W. LIN and B. YANG: Finite-time stabilization in the large for uncertain nonlinear systems. *Proceedings of the 2004 American Control Conference*, **2** (2004), 1073–1078. DOI: [10.23919/ACC.2004.1386714](https://doi.org/10.23919/ACC.2004.1386714)
- [8] W.M. HADDAD, S.G. NERSESOV and L. DU: Finite-time stability for time-varying nonlinear dynamical systems. *American Control Conference*, (2008), 4135–4139. DOI: [10.1109/ACC.2008.4587141](https://doi.org/10.1109/ACC.2008.4587141)
- [9] J. LIU, S. LAGHROUCHE and M. WACK: Finite-time observer design for a class of nonlinear systems with unknown inputs. *American Control Conference*, (2013), 286–291. DOI: [10.1109/ACC.2013.6579851](https://doi.org/10.1109/ACC.2013.6579851)
- [10] J. LI and C. QIAN: Global finite-time stabilization by dynamic output feedback for a class of continuous nonlinear systems. *IEEE Transactions on Automatic Control*, **51**(5), (2006), 879–884. DOI: [10.1109/TAC.2006.874991](https://doi.org/10.1109/TAC.2006.874991)
- [11] J. LI and C. QIAN: Global finite-time stabilization of a class of uncertain nonlinear systems using output feedback. *Proceedings of the IEEE Conference on Decision and Control*, (2005), 2652–2657. DOI: [10.1109/CDC.2005.1582563](https://doi.org/10.1109/CDC.2005.1582563)
- [12] A.N. NEKHOROSHIKH, D. EFIMOV, A. POLYAKOV, W. PERRUQUETTI and I.B. FURTAT: On simple design of a robust finite-time observer. *IEEE 61st Conference on Decision and Control*, (2022), 4746–4751. DOI: [10.1109/CDC51059.2022.9992441](https://doi.org/10.1109/CDC51059.2022.9992441)

- [13] E. MOULAY and W. PERRUQUETTI: Finite-time stability of nonlinear systems. *IEEE International Conference on Decision and Control*, **4** (2003), 3641–3646. DOI: [10.1109/CDC.2003.1271714](https://doi.org/10.1109/CDC.2003.1271714)
- [14] C. QIAN and W. LIN: Nonsmooth output feedback stabilization of a class of genuinely nonlinear systems in the plane. *IEEE Transactions on Automatic Control*, **48**(10), (2003), 1824–1829. DOI: [10.1109/TAC.2003.817930](https://doi.org/10.1109/TAC.2003.817930)
- [15] C. QIAN and W. LIN: Recursive observer design and nonsmooth output feedback stabilization of inherently nonlinear systems. *IEEE Conference on Decision and Control*, **5** (2004), 4927–4932. DOI: [10.1109/CDC.2004.1429587](https://doi.org/10.1109/CDC.2004.1429587)
- [16] C. QIAN and W. LIN: A continuous feedback approach to global stabilization of nonlinear systems. *IEEE Transactions on Automatic Control*, **46**(7), (2001), 1061–1079. DOI: [10.1109/9.935058](https://doi.org/10.1109/9.935058)
- [17] X. WANG, S. HUANG and Z. XIANG: Output feedback finite-time stabilization of a class of nonlinear time-delay systems in the p-normal form. *International Journal of Robust and Nonlinear Control*, **30**(11), (2020), 4418–4432. DOI: [10.1002/rnc.4996](https://doi.org/10.1002/rnc.4996)
- [18] X. WANG and Z. XIANG: Global finite-time stabilization of high-order nonlinear systems: a dynamic gain-based approach. *International Journal of Systems Science*, **50**(8), (2019), 1677–1687. DOI: [10.1080/00207721.2019.1622814](https://doi.org/10.1080/00207721.2019.1622814)
- [19] B. YANG and W. LIN: Homogeneous observers, iterative design, and global stabilization of high-order nonlinear systems by smooth output feedback. *IEEE Transactions on Automatic Control*, **49**(7), (2004), 1069–1080. DOI: [10.1109/TAC.2004.831186](https://doi.org/10.1109/TAC.2004.831186)